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Attempt any five question in all selecting one question‘from each unit.
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No supplementary answer book will be given to any candidate. Hence the candldates should write
their answer premsely in the main answer book only. . :

All the parts of one questlou should be answered at one place in the answer-book. One complete question

should notbe answered at different places in the answer book. _
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UNIT -1/ ?z?ﬁl':f =
1. (a) Discuss basicprinciples governing an audit, : - 8+12
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(b) What is auditing principles, auditing procedure and auditing techniques? Explam difference
between auditing principles, auditing procedure and auditing techniques.
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2. Explainthe following S-mguish
(i) Routine checking Vi \ct.
(11) Testchecking 3 AR
(ii1) Audit Evidence : o !
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31 "M auditor is not a valuer and yet he is intimately connection with values." Exp lain fully how Yyou “{l‘l f
reconcile this statement. 10‘pm'
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4. (a) What will be the situation if any auditor gain disqualification after his appointment? Under whTe
circumstances a company auditor may be appointed by board of directors, 7
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(b) Write notes :

(1) Removal of company auditor

(i1) Remuneration of. company auditor
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UNIT - 11/ s _ I
ligence, or(b) Negligence Wi

3. "There may be (a) loss without neg




OR / Jq4r
'*Jaistinguish in clear and qualified report. Draft an imaginary clean repoi't in the manner prescribed under

the Act.
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UNIT - IV / g1g — IV
N. P. limited expects annual net operating income of 4 lacs. It has 10 lakhs outstanding debts, cost of
debts is 10%. If the overall capitalisation rate is 12.5%, what would be the total value of the firm and the
equity capitalisation rate according to 'Net operating income approach'? What will be the effect of the

following on the total value of the firm and equity capitalisation rate, if

The firm increases the amount of debt from 10 lakh to Z15 lakhs and uses the proceeds of the debts to

repurchase equity shares.

) The firm returns debts of TS lakhs by issuing fresh equity shares of the same amount.
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OR / 3441
Tata 'Company Ltd_ has a capital of 8 lakhs divided into 30,000 Egili!.}: share of 10 each, 30,000 10%
debenture of 10 each and 2000 12% preference share of ¥100 each. The profitbefore interest and tax are

32,00,000 and rate of tax is 50%. You are required to cé}culate financial leverage. If the EBIT has
increased by 40%, What will be new financial leverage and interpretit.
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9. From the following information, make out a balance sheet of Mabharaja Jute Limited. With as mar

details as possible.
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Sales T36,00,000
Total Asset turn over 3
Fixed Asset turn over 5
Current Asset turn over 7.5
Inventory turn over 20
Debtors turn over 15
Total Assets/Networth 4 25
Debt Equity 1i1 -
Current Ratio : 221
Equity share capital :Reserve 2]
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10. "Ratios are the symptoms like blood pressure, the pulse or the temperature of an individual”, Explain the
statementand give the fundamenta] ratios and other uses,
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